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	 ا����
	 �� ا����   
-  ��
���
*وران )�ل �&�ر أ�#�r =10cm"�!ة ������	 � 	
                                                                     O /�! "�!آ-ه� (∆)  +�"

   J∆=5.10-3kg.m²   ه�(∆) و
-م +�1ره� "��0��	 �
�&�ر    
- 345(f)  !&�9ف )�ل ا���!ة و/&�� �� 7!�6 ا�
� 	
��� 6�
                                                                                  >4! +�"� �;��*اد وآ�

      ����6�

�� آ�= Kg2=m >5?آ�ت و����(Aا B4�� ����  2-s.m10=g                                �	
1  

G ا���!ة "�اEF	 ا�34D   +�ة   أ�4#	 ) 1
 H�E�)6���� ا���� !Jا� (K�ا�� H
E04�(S)                                                                         

      	J&

	 "*4L	 �� ا�E#0	  "*ون ��t=0F ا�!A ب���Nذات ا ZA=0  	E#0ا� G�14 إ��                                                                            

	  tB  �� ا�
&J	 zB=5mذات ا�N��ب       !���" VB=4m.s-1 . 

1-1 -K�وزن ا�� �R�4�7��6؟.ABا��A#�ل  5;ل (S)  أو�*  ��  
2-1 -�E�"  K�ا�� G

                                                                           أو�* tB  و t=0 "�4 ا�
&H4 (S)�4�J ��!ه0	 ا��E+	 ا�&!آ4	 

�*ة ا�#�ة     T  34Dا� ��#�E/ ا���  (f)K�ا�� G

 ) (S.  

G ا���!ة "�4 ا�) 2

&H4�E�" �4�J ��!ه0	 ا��E+	 ا�&!آ4	 t=0و tB ة ا�#�ة*� !4��         F                                                  أو�* �
 	�A*"  J∆وVBو  r و  zB و T. ����4+ V�(ا. 
3 ( 	J&
) /90
X ا�34D �� ا�����tB K ا�S( 	E#06 �� ا��
!F م*�0� G�( Yد��= !45N�4ا=� ه<ا ا� C ب���Nذات ا zC    . ر��D� ى���ا�� 

 	E#0ا���ر �� ا� �#�NاA	4��#�ا� B[ا�� 	+�E� ���!� .  
)   �
��Em(B)K ا)�V +4�	 ا��E+	 ا��4�4���4	 - 1-3S( 	E#0ا� �� B.   
2-3 -\�0�Fا   Em(C)  K��
  .BCو)*د +4�	 ا�����	  ،(S) �� C +4�	 ا��E+	 ا��4�4���4	 �
3-3 - 	
 .A ا�E#0	 �Gإ (S) ا��� /��د "�� ا���VA K أو�* ا��!
4 ( �+�F !����AB ���

*وران )�ل �&�ر _�"2ℓ = 60cm X و ��7��  m = 0,5kg آ�� 	
"�+   

 ���!7 �� !�/   A .  ق ه���م +�1ر ا�-
²m.kg2-.10,51 = ∆J.  �	
2                                                       �	
2  

	 "*4L	 a/-�   θm= 30° ا���ق 
� ��]B ��از��� ا����#! ب!F ره� "*ون!&� K_.  


	  و �?5< �����! اA)���آ�ت ��  g = 10N/kg.   
1.4-�F3 ا�!أDول �!ة �� ا�N وره�!� 	J&ه� و�!/!&� 	J&� �4" ق��ا� G

 	#�E�ا�#�ى ا� �R� V�(أ .  

��قωmaxاθ = 0°.  \�0�F و  θm = 30°ح "�4 ا���]��4  .ط. "�H4�E م-2.4� .  
3.4- *0

Epp *0واθ = 0°.  \�0�F أ)�V ا��E+	 ا��4�4���4	  θm = 30°.   
4.4-  B[��ق �� ا���0* �&!/! ا�

�� أ�6 
 θm = 30°  �F3 ا�!أDا� B� 0*�� ���ن
�� Nول �!ة �
!F م*�0� θ = 28°.  
  .��ذا ����0\ .  أ)�4R� V! ا��E+	 ا��4�4���4	-   أ   


-م +�ى اA)��-      ب V�(ق أ��ا� G

 	#�E�ك ا��. 
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�����2: 
 	
   C = 0,1moℓ/ℓ و�!آVs= 0,15ℓ -4 �� ��&�ق ا�40���Nم �� �&
�ل )�h ا��
�ر/*ر/g ذي )�Be�m = 0,1g K آ�
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� و�H ا����د�	  22
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�9
;ت وازن ا����د�	 )1��
� 	4L*آ��4ت ا���دة ا�� V�(أ K_  . 
2( �
  .أ��j �*ول ا��#*م ��<ا ا���9
 . ا����9
� ا��&*\ا�0�Fأ)�V +4�	 ا��#*م اG1+N و )3
 .واK�( \�0�F ا��Rز ا����1
*.&��	 ا�0��4L	أ)�V �!اآ4- ا��Nاع ا��4L�4�4	 ا����ا�*ة �� ا��&
�ل �� ا� )4

                              �E��      M(A ℓ) = 27g/moℓ        و Vm=24l/mol                               
 ---- --- --- ---- ---- -- ---- --- --- ---- --- --- ---- ---- -- ---- --- --- ---- --- --- ---- ---- -- ---- --- --- ---- --- --- ---- ------- --- ---- ---- -- ---- --- ---  

�����3  :  
��6 ا�&!ار/	 - 1 F !��� �� �5*� µc=200J.K-1 6)!ار� 	ودر� θ0 	
   .θ1= 25°c �� ا���ء در�	 )!ار�m1= 100g 6 ، آ�


	 ه� ����

0* ا���ازن ���ن در�	 ا�&!ارة �   θf= 24°c.   
1.1-E�3 ���4!ه� "*�A	 ا��
  .�4ت "�4 أن ا����! �#* �7+	 ؟ وأ
3 ���4! ا��E+	 ا�&!ار/	 ا��� �#*��� آ�
	 ا���ء -2.1
   ؟   θ0 ؟  و ا�4+ \�0�F	 m1 أ

2-���
�	 �� ا��
4* آ�E+ !���� 80g mg = ��   .θg= -10°c ودر�	 )!ار�
1��ر ا��
4* آ
�4 ؟-1.2�A 	ا�;ز� 	ا�*��/ 	ا�&!ار/ 	+�Eا� V�(أ   
2.2-

�	 �� ا��
4* ا���"#	 ا��� در�	 θ2= 20°c �� ا���ء 
0* در�	 ا�&!ارة Gm2= 200g  �*�5 �� ا����! ا���"H ا�<ي /&��ي E+         
      ��
0* ا���ازن ا�&!اري ���#! ا�&!ارة 
θg= -10°c *0)!ار� ، cf °= 0'θ . 

1��ر ا�#-أ      �A 	ا�;ز� 	+�E�4؟ �0#�رن "�4 ا�
10�! آ� A *4
�	 ا��E+ �4 أن" ��� 	
�	 و ا��E+	 ا��� ��0&�� ا�����E.  
��E    أو�* آ�
	 ا��
4* ا����#� 
0* ا���ازن ؟ - ب     �   :Ce= 4180J.kg-1.K-1   ;  Cg= 2100J.kg-1.k-1   و  Lf = 355kJ.kg-1     
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